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Adding and Subtracting Polynomials

A)  Perform the indicated operation and write your answer in simplest form.

1)

x2-3x+3)+(x2+x-1)

(6x2+ 1) + (5x2 - 4)

(v* -3y*)-(y* -5y°)

x2-3x+3)+(x2+x-1)

(4x - 33 + 9x2) + (20x3 - 19x

+ 3)

(4x - 3+9x3) + (2x3 - 9x + 3)

(6x+4) + (22x + 3 - 36X2 + x3)

6Xx - (22x + 3 - 36x2 + x3)

(7x% - 2+ x2+ 13x) - (4x® + 10)

(2x2 + 3x-9) - Bx2 + x - 4)

2)

(4x? - 15x + 16) + (2x - 20)

(14 - 16x) + (10x - 5)

(4 - 6x)+ (7x - 8)

(2x2+3x - 1)+ (4x2 - 8x + 9)

(4x2 - 15x + 16) + (2x - 20)

(-3x3 +4x - 9) + (2x3 + x? - x)

(6x2 + 1) + (5x2 - 4)

6Xx - (2x + 5 - 6x2 + 2x3)

(8x3 - 1) - (20x® + 2x2 - x - 5)

(2x3+ 11x+2) - (x3 - 2x + 7)
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(73 - 2 + x2 + 13x) - (4x® + 10) (8x3 - 1) - (20x® + 2x2 - x - 5)

(2x2+ 3x-9) - Bx2 +x - 4) 2x3+11x+2) - (x® - 2x + 7)
(753 - 2+ x2 + 13x) - (43 + 10) (-3x3+4x - 9) - (2x® + x? - x)
(2x%y + 9y? - 2x) - (4y? + 5x) (x3+2x - 5) - (x2+ 6x - 1)
(2x3+11x+2) - (x®3-2x+ 7) (8x3 - 1) - (20x3 + 2x2 - x - 5)
(7x3 - 2+ x2 + 13x) - (4x3 + 10)

(12x3 - 5x2 - 70x + 1) + (-17x3 + 22x - 1)

(2x2y + 9y2 - 2x) - (4y? + 5X)

(6x2 + 2y - 3xy + 5) + (4x%2 - 5y + 3xy - 8)

(12x3 - 5x2 - 70x + 1) + (-17x3 + 22x - 1)

(6x2+ 2y - 3xy + 5) + (4x%2 - 5y + 3xy - 8)

(4x% +6x+7)+(2x* —9x +1)

(2p®+6p® +10p) + (9p° +11p? +3p)

(2x° +5x> =3x)—(x’ = 8x* +11)

(V' + 6V —v)— (9’ — TV + 3v)

(30d° — 294> - 3d)— (2d° + d°)

(6y3 +2y° — y—11)—(y2 —8y+9)
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(6x% + 2y - 3xy + 5) + (4x% - 5y + 3xy - 8)

(12x3 - 5x2 - 70x + 1) + (-17x3 + 22x - 1)

(-3x3+4x - 9) - (2x3 + X2 - x)

(4n? —3n+2)+(6n? +12n—4)— (11> —7n-3)

CP+2x-5)-(x2+6x-1)

(4x - 33 + 9%x?) + (20x® - 19x + 3)

(o.ozx2 + x—o.007)—(o.o3x2 +0.0001x—0.02)

(o.ozx2 + x—o.004) —(0.01x2 +0.0001x —o.oz)

(0.02x + x—.004)~ (01x? +.0001x —.02)
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